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TABLE 1-1
Type of connection Reaction Type of connection Reaction
(g —
Cable One unknown: F External pin Two unknowns: F,, F .
A Fv
— () F i B
= -
Roller One unknown: F Internal pin Two unknowns: F,, F,
M F,
|G F, 4—( [
: / 0
g
Smooth support One unknown: F Fixed support Three unknowns: F,, F,, M

Skl o 1 ,all 3 0 gl & ¥slae
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SF,=0 3XF,=0 3XF.=0

SM,=0 32M,=0 32M.=0
>, = O
=F, = O
AL = O

s ) gedll alales) wozs alxlhias
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Positive normal force

A gll adll 548 -

Positive shear
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g lp)‘.zj‘ JL:E&A" 292) uLw.}—/l
EMD =0, 9KN.m + 6KN(6m) — A,,(9m) = 0
A, = 5KN
& A o o) pudl ks 3 asY I KN.m Azga3ll aje oo JasIL
bl ey g ¥ Lol

Equations of Equilibrium.

Segment AB
1 3F, = 0; Ng =0
+12F, = 0; 5kN—Vz=0 Vgz=5kN

C+IMz=0; —(5kN)3m)+Mz;=0 My;=15kN-m

Segment AC

1 3F, = 0; Neo=0

+12F, =0, SKN—-6kN-V.=0 V.= -1kN
C+IM.=0; —S5kN)3m)+M =0 M = I15kN'm

550l 5.k pammeall sl ¥l o1 Jas VC sl 5521 AdLadl 5,291 o LasSIL) 0
3 Goluy ¢ 1hdl O gy cnisylanaC 9 B cnaladndl (19 . yo9,adl alms¥l (uSlay
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Bakadl wie JSCA §

4 ft = 4 ft

’”"fHHHHHHH B

e

Fpc

|4()() 1b
-4 ft 4 ft }
_________ i_______ﬂ
I I
A, 1 !
A C
I Fm‘f-’
A 4
F[)L

(b)

s Ay gl JLad¥ ! 390y olus -1

138 cn5g8 Wi i (3l g wais 92 CD yuniadl of oo e

S My = 0,—400(4) + Fep (e

(TWO FORCES MEMBER )
)=0, Fop = 333.31b

4
ZFx =0,4, —333.3 (E) = 0,4, = 266.7Ib

3
ZFy = O,Ay—333.3<§)—400 = 0,4,

= 200Ib
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LA A, LN Y

200 1b 200 Ib

—2 ft—-l—z ft—| -2 ft—i—z ft—|
(I A | Mg "~~~ [
266.7 I, | wMs N ( F !
-l A B >N, - B C
B

Ve 333310 ¢

:AB ¢ 32l &3l gd| S¥slae LS

BZ3F. =0 Ng—26671b=0 Ng=2671b Ans
+12F, =0; 2001b —200lb — Vg = Vg =0 Ans
C+3IMz=0: Mz—2001b(4ft) +200Ib2ft) =0

Mg = 4001b" ft Ans

‘53.5_” nza 4.?.31 ‘ Mb&.’a&o\y é.‘w.a.c Kg 500 Mﬂﬁn (3) MLW.A
Eabadl wie 4n)lal] oo all alasll e 3,55L1 dds 1)
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LA A, LN Y

.JL’.B?‘ 293y g.aLw)

(b)

(+SM4=0;  Fep(2)(2m) — [500(9.81) N](3m) = 0

Fep = 122625 N

BSF, =0; A,- (122625N)(}) =0

A, = 9810 N
+1SF, =0.  —A, + (122625 N)(2) — 500(9.81) N = 0
A, = 24525 N

v

L
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LA A, LN Y

LEF, =0 Np+9810N =10

Ng = —9810 N = —9.81 kN Ans.
+1E2F,=0; —Vp-24525N=0
VE= —24525 N = —2.45 kN Ans.

(+EMg=0; Mg+ (24525N)(1m) =0

Mg=-24525N-m= —245kN-m  Ans
dcall callaaiy| ALY « uadll 8g8g  dysgeadl Bodll cwsl: (4) Ul
C sl e JSKEJ ‘3 CHAY

10 kN 13 kN

B
N = AN
LI.S m—p—15m 1.5m l.SmA‘
C+EIM, =0; B(6) — 10(1.5) — 15(4.5) =0
B, = 13.75kN
LEF, =0; No=0 Ans.
+13F, =0, Ve+1375-15=0
Ve = L23 kN Ans

C+EIM-=0; 13.75(3) = 15(1.5) = M= 0
M= 1875kN-m Ans.
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Callaill e JSaJ1 § dil

10 kN

JOKN -m

E . .-m - : |
1.5m—|—1.5m 1.5m—|—1.5m—-

C+IMg=0; 30 — 10(1.5) — A(3) = 0
A, = 5kN
YSF,=0; Ne=0
+13F,=0; 5-Ve=0
Ve = 5kN
CH+3M-=0; M-+ 30 -5(15 =0
Ms= —-225kN-m

dciall Slaai¥| pIE9 ¢ uadll 8g8g  Lsgeadl 8gall cwss!: (6) Ulo
Calaidl wie JSAJ1 § Al

12 kN 9 kN/m

S SRR RRRRE
|—1_5m—-~—1.5m—n—|_5m£|_5m1-_
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G+IM, =0; B/6) — 12(1.5) — 9(3)(4.5) =0
B, = 2325kN

LIF,=0; Ng =0 Ans.
+12F, =0; Vo+2325-915 =0

V= —9.75kN Ans.
C+EIM-=0;
23.25(0L.5) — 9(1.500.75) — M-=10

M-=2475kN-m Ans.

dciall Slaai| pIE9 ¢ uadll 8gdg « sgeadl Bgdtl cws!: (7) o
Cataidll wie JSAI1 § Al

9 kN /m

C

C+EMy = 0; B6) — 5(9)6)3) =0

B, = 13.5kN
L3F, =0, Ne=10 Ans.
+12F, =0; Ve+ 135 -3(9)3) =0
Ve=10 Ans
CH+EM-=0; 13.5(3) — 1(93)1) — Mc =0
M-=27TkN*m Ans.
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JSa!

270 N/m

3m 1 6 m |
130 A aldl cotall Ahads aie Js¥ 593, lucd §y9y40 dzg3 ¥ ¢ =
1 3lyal) 9CB plasll Lzl

(B ahadell yull el Lalase

— —

(b)
bt ol LiSas (B alaall e 8,350 &ejoll gall Lo Alaslxll Comy
P S 399 clidl) 3u)bo e C Alaaill wie goall sda il
w 270
e = om = w =180 N/m
 ((Cdin ) Ugeml G izt A Ludl (olud Aejoll Wgamll Anma dayd
$ o gl il Ao Lue 3850 (88550 059
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3(6)=2m = danll pilakas

Oyl gd | ¥ slae
L3F, =0 ~N¢ =0
Ne=0 Ans.
+13F, =0 Ve — 540N =0
Ve=540N Ans.
(+3M, = 0; ~M¢ - 540N(2m) = 0
Mc=-1080N-m Ans.

 dadd Lagec Jladl s, FA B (nidadill wie Joleedl ¢« 4!

25N (800 N/m)(0.150 m) =120 N

8O0N/m T, i _____ 225N
& = B
i"%'-%» — |
A, . Bal| D : ' ’ :
= ’ ’c 250" 1" ’
Ra—r 2
L-zoomm fosed o | b3 T0125m [0.100m'
/ 100mm/ 100 mm

A, B,

50 mm 50 mm

(a) (b)
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:AC &E.E.Q.U @Lw.g\ ;}zj‘ ...L>L Jladl s @ 9

B Aadill Jy> agiall Aolas s A Jesedl sie Jasll sy Clus Jof e

ZMB:O

= —A,(0.400m) + 120N (0.125m)
— 225N(0.100m) = 0

A, = —18.75N
sles¥l uSe 9o 894l s mumsall slas¥l o gad Jaall 3,0 2dLad) 3,Lal
w29yall
AC ¢ j2ll 3lenll ¥ alas LSy o) ezl Lalases o
Y2 Fy =0 = N -0

ZFY =0 = —1875N —40N -V, =0

Z M, =0 = M.+ 40N(0.025) + 18.75N(0.250m) = 0
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1875 N i
v A

A
0.025 m Vo
s W
0.250 m

(c)

s ‘éw,aj.a.” t]a.&l‘ e SJ.'S'}U sl ‘53.5.." dams cwsl: 100Lux
cddbada alog o Byle Juolall ﬁ\fgi o2 s G dadidl

B ."\}C
g = —&e |7
¢ [ 1500 Ib

Fge = 62001t
1500 Ib

I A
| ”’
- =
- 2
6ft * %(()(l)—-l[l

1
’(b 1) (300 Ib /1t) = Y00 Ib

(a) (b)

Zt.y’vw‘ JL!AQ‘ 393, uLw-"'jJ::J‘ p.w::." blhsa )

Bgall wyasi adaiud JLdly « BC ( two forces member) jaiafl Lo
aiadl lda §5yi5ll

Y F=0 = Fy— B, =0
> F, =0 = -1500 - 900 + E, = 0

zME =0 = 1500(10) + 900(4) — Fgc(3) = 0
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Fgc = 6200Lb. E,, = 6200Lb, E,, = 2400/b

AB paiall § 8gdll Glust Aol s Ayl JLad¥l 395) cilus cay

BD 9AB (ypaiall o) dlasdls a AG  (lud! aladall Ujluasl wie Uiy

sia 3 $9dll wlus adaiui Two forces member  yolic Lea P

Cugomald Auddly O3l e¥slas 4liSg bude (2 B daddlljlacly ypoliall
X, Y

1500 1b 7750 1b

B
/O== — 6200 Ib

|
!

Fl)‘l) = 4650 1b
(©)

2 <~
F—2ft —|v_. Mg Fpa = 7750 1b

AAG 5 32l 3lenll c¥alan gyl el alaes

Equations of Equilibrium.

- SF,=0; 77501b(£) + N6 =0 Ng= —62001b Ans.
+1=F,=0; —15001b + 77501b(2) — V5 =0
Vs = 3150 1b Ans.

(+=Mg=0; Mg — (77501b)(2)(2 ft) + 1500 1b(2 ft) = 0
Mg — 630010 - ft Ans.
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LA A, LN Y

S v yall alaioll ajally ¢ yaill Bods « Apalalid) 3yall coua! : 110Lus
P=8KN.C daill e

—

SUPPOrT Keacrions:

C+EM, =0; 8(225) - T(06)=0 T =300kN
—EF, =0; 300-A,=0 A, = 30.0kN
+1EZF,=0; A, -8=0 A, = 800 kN

Eguarions of Equilibrium: For point O

— ZF = ~N-—300=0
Ng = =30.0 kN
+1ZF, = 0; Ve + 8.00 =0
Ve = —8.00 kN

C +EM-=10; B000.75) — M- =0

My = 6.00 kN -m
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8)lall
D 5C cadilly
C+IMy =0, -A(d) + 6(35) + é{znsuz; =0 A, =750kN

Referring to the FBD of this segment, Fig. b,
L3E =0 Ne =10
+1ZF,=0; 750-6-Vo=0 V.= 150kN

C+EM-=0 Mo+605-75(1)=0 My=450kN-m
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© KN
o.5m
11 "
Ne
m Ve
A?= 7.50 kN
@
(b)
£
I
G+EIM, =0 B,(4) = 6i0.5) - E{:’-]il}{E] = H,=300kN
Referring to the FBD of this segment, Fig. b,
SIF =0 Np =0 Ans.
. 1 .
HISE =0 Vp=s(15)(15) +300=0  Vp=-1875kN Ans,

I
C+IMp=0; 300(15) - E{l.i]il.ﬁ}[ﬂ.ﬁ] = Mp=10 Mp=35975kN-m

=3MEN'm Ans
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kgl

: bl sled! Juas

0=P/A N/m?

2o Lucall vyl aladll o dadi A 3 b LYl Juns- ©

M—?eﬂ ‘é\éﬁ-n t’a.&u dolua -A
aall ot S5 5,350 palslil] Al 1l (55211 dlyarea-P
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Oigeidly Hads sle2¥l old ¢ Ao Ladl e 8,530 59411 (e 8yl sl () s
1Pa = 1— ) JSuls aisanlylioda . N /M? 2oLl e e
lazers 100 e 5 (K Lajays 1073 oL e sustell sdd cilicline dmgs
G Lagays 107 Lz M

Lise " Slaslgll alaiiul Luolio 0380 ¥l oo iSI1 3
1MPa= IN/mm’ : 1" MPa" JISuly

https://manara.edu.sy/



https://manara.edu.sy/

[

6)liaJl

e dlinio Aliog A wlgy wiludc 150Kg  LaliS dudlomin Asyle:l Ulux
2KN Laylade gt (o,ai5 10mm  5,3CD LS dlaulgy dalaag. B

m = 150 Kg
d=10mm

4m

2KN

s O3lgd) ¥ alag gyt el lalases

S olamily 898 J] 8LSFL ¢ Jasll o)) (niSpe Lo B dlimsll Aliogll e
CB

W = 14715 N

S0

2000(6) + W(3) — P(g) (3) =0

‘ W = 150(9.81)

Irp - 6340!\1’:
T
P A= —dd?*
T = E 4
A="010)2

6840 N 1
T = 78. 5 mmz A= ?3- Smmz
_ : ZKN w
a=87.1 MPa
\ ] 3Im » Im
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Aluminum

Bronze A= 1000mm?2 Steel

A = 800mm?

A= 700mm?
20KN 10KN
h
15KN 15KN
500mm . 600mm e 700mm
. Alumi
At segment (a-a)' Bronze A =u$:l::nmz Steel

A = 700mm? A = 800mm?*
— 20KN 10KN
fx= =l R
15KN 15KN

500mm . 600mm y 700mm
20— Pp=0 Pp =20K
PB d
O'B = —
Ap 20KN : 5 Py
— N
B 20x103( N ) ,
78~ 7700 \mm?
op = 28.6 MPa
At segment (b-b): Bome 4 Steel

A = 700mm? A = 800mm*
f — 0 20KN 10KN
x= —> «—
15KN 15KN

500mm . 600mm . 700mm
20-15- P, =0
b
_ P,
O,y = a,
20KN P,

5x103( N ) > ‘15KN
OIA =

1000 \mm?2
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At segment (c-c): gronze e Steel
A = 700mm? A = 800mm?
=0 g I =
20 15 15 P _ 0 ) 500mm y 600mm . 700mm )
- — — P =
P =10K
C
Pg 20KN Ps
oy =— —_—> €
Ag 15KN 15KN
10x103 ( N ) ¢
T =
*7 800 \mm?2

os = 12.5 MPda

Gudas ¢ 35919 ej..uls" o0 Onads Juaie el fpe gl 1 3 Ula

Steel Bronze \
Aluminum ee , A = 500mm?> §
o, <80 MPa A = 200mm?2 A =400mm \
o6g <150MPa|p._ ol __________ T §
op <100 MPa §
N\
im N 2m 2.5m §
I Aluminum Steel . a :Br;;:]ernmz \\\

o, < 80 MPa A= 200mm> A = 400mm
os < 150 MPa p_)|j . Q
At segment (a-a): gy < 100 MPa \
Zm . 2.5m §

fozo 1m
P—P,=0 -

P—> \\e—=2
Pyo=0,4,

P, = (80x10°%)(200x10°°)

P,=16K
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LI EE R S A

Aluminum
o, < 80MPa A = 200mm?*
os =< 150 MPa J

op <100 MPa

At segment (b-b):

P—3P— Ps=0

Steel
A= 400mm? |

Bronze
A = 500mm?

2P

PS = 2F p
—
Ps = 0Og As
2P = (150x10°)(400x10°%)
\Ps =30KN
. Aluminum Steel A =B r;::}emmz \
o, <80 MPa A= 200mm? A A00mm” |'
At segment (c-c): os <150 MPa p - 2p '
op <100MPa 7 \
|
Z fl' = 0 ) 1m . 2m 2.5m \

P-2P-3P—P,=0
Pp = 4P

Pp=0pAp .

4Py = (100x10°)(500x107°)

Pp=12.5KN

7S

2.5m

adll alaleal -2

¢ ooyl alaill ALk &jlge BB Gasdal (ye Amilidl ilal2Y) 2

oyl aladll & bue (e B guniia

A lued] (oo pall aladll (S giun (roud yadll sl i

/DC,ABaill (s giuns L yebay dnyladl e gall ,oldd dm s
Fo9all Brdas (e Ll yaall bl Juan cisucmy
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Y

6)liall

Tav=V/A (N/m?

abicl jadll slea! Juae - Tav
sl jadll g9d diaza —V

ooyl glaill dxlus -A
ALl | 3600 cro St Alama po Lot Lelatin adll abal G980
el e

P a0l adll ged

Latie padll skl cibua 31yl aadill § Lioas Lakada aigol-

oo adadll e B35l Alds lud) 598l w1 yd| pued| Jalases oyl -
cOylgdl ¥ alas

: paddl alea! Joae 48Me st *
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P

deol o
6)liogJl

Tav=V/A (N/m?)

gaddl sleat Juas cus g A paladll do bus cwes!
sl o€ 131a .300Mpa od daglie &l domrdio udis o pid Ulus
Jol o dmiiall laatl aSlowdl w|.4OOMpa @ ddzxe il
Jdoomm yhady Ll codis
oS i) g yia¥ ! Jaill ceus110mm dxdyall ASLew cislS 131 -b

L

.@J.a.'

{

@—— ‘b)) |t=300Mpa

deiioominl =2 0 < 400Mpa

=7 t=10mm P )
iy SSS

|

T = 300Mpa
0 = 400Mpa
7 ///? F\\\\

P

punch =V

plate
T
—d2) —
cr(4d ) = 7(mdt)
_od _(400)(100)
41 4(300)
t =33.3mm
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T = 300Mpa
0 = 400Mpa
7 ///? F\\\\

P punch = V‘plate —
T2\ = b
a(4d ) = 1(mdt)
AT 4G00)(10) d=?
T o 400 t=10mm
d=30mm

dob 19315 Aawlgs 50mm ,had 3gany Aaia750mm s, §,8:5 Uiuws
70Mpa 4 zgaud | sl ¥l GIS 131 b ygaliedl (oo s |.75mm

6KN
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Sm-

10(375) — 6(375) —V(25) =0

V =60 KN
14
T
(75x2107)b = il b
70x106 z ; :
b = 0.0114m " Resseng e 2
b = 11.4mm -
6KN €=

dlsza é;}.‘al‘ sl € 13IAB Ao gl gl il Cowl-a:6 Ula
100Mpa <

20mm s,k oIS 131D wic slewd! § padll sl coun! -b

0 < 100 Mpa
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30KN

0 < 100 Mpa

P(200) —30sin60°(240) =0
P =31.2KN

for rod AB:

P 31.2x103
A = == =
o 100x10
Dy

A = 0.312x1073 m?

T
Zdz = 312 mm? 30 sin 60°

d = 19.9 mm
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6)liaJl

LA A, LN Y

ZFX=0 ZFY=O
Dy — P — 30¢os 60° = 0 D, — 30sin60° = 0
Dy = 46.2 KN D, = 26 KN

P=31.2 KN

D = /@62)" + (26’

Vv 53x103
T==—™ = ————
A o
2 [4 (20)2]

= 84.4 Mpa Double shear

30sin 60°

B Jaille, mm 20 ,kadll o3 Juadll e (adll sba! Jurs ciwe| 70w
.mm 30 ;kasll o3
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6)liaJl

LA A, LN Y

4
(+ZM, =0 FB(E)(ﬁm)— 0KN(2m)=0 Fp=125kN

3
53F =, (12.51(N)(§)—A_r:0 A, =750 kN

4
+13F,=0; A+ (125 kN)(g) -0 kN =0

A, =20kN
Thus, the resultant force acting on pin A is
Fy=VAZ+ AL = VIS0KN] + (20kN) = 2136 kN )

dciall 98,5581 8gall. yadll (nislud (oyae A wic Aciall Junde
799 padd oty Jeadll jleus o pad Wl sda 3 21.36KN

F, 2136kN
V,=—== = 10.68 kN

2 2  gaddl 5g8

Pacadly LSOl Gy By (e Badt et slend | OF e d JSCATN

Ve = Fg = 125kN
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6)lial
s padll sl Juae
Vv, 1068(10°)N
Ta)avg = — = = 34.0 MPa

A T .
! —( (L2 m)~
1 | .

_ Vg 12.5(10%)N
(78)avg = = = 17.7 MPa

w L
As (003 m)”

L (agd) ) Sraail) clilgal.3

i Al alua¥) e Jobial) Jazcall daii (eagdl ) Jseadll cilalgal s
o) dalise A B s dilue o Lokt ()5S Jrenill dlgal o 2 si
o Aa suiia A gaall 4 glise A geall Jranill dlgal dad (5 6K ¢ Gpanall G

P
O'bIZ

A00mm dmidioe JS (oye . 20mm oyhad (imdo (i dayy gl 08 A [

4 C}-‘-‘“—” uadll ..5\.??!3 « 140 Mpa < CM‘ ezl sl €13] —a
Ao ST Wglhall & pio¥] aSLewd ! caus | .cd gl ual 80Mpa
édé.:sﬂ widl sl | Joas s |« Jodl cdlaltl ‘3 85651 bog il 39g-b
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LA A, LN Y

» = 140 Mpa

T = 80 Mpa
t =7
»P
d

d=20mm

TA, = 06LA,
1|8
.3 Y
T (4d )—ob(td)

mdt

t—

il 40'b

_ m(20)(80) ymm. Mpa
T 4(140) ( Mpa )

t=8. 98mm’
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LA A, LN Y
—_—

(0] =
ave A
net

T
P= 1A, = t(Zdz)
P = (80x10°) (7 (0.02)?) = 25.13 KN

Anet = (W - d)t
A, .. = (100 — 20)(8.98) = 718 mm?

_ 25.13x10°
Gave = 7 18x10-6

= 35Mpa
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